

SOME INTERPOLATIONS AND REFINEMENTS OF HADAMARD'S INEQUALITY FOR r -CONVEX FUNCTIONS IN CARNOT GROUPS

DAH-YAN HWANG

(communicated by I. Perić)

Abstract. Some nontrivial increasing functions will be interpolated in the Hadamard's inequality for r -convex function in Carnot groups. The methods are more natural and allow us to extend the condition $\Gamma^2(G) \cap C_{H,r}^w(G)$ to the condition $C(G) \cap C_{H,r}^w(G)$.

1. Introduction

The classical Hadamard's inequality for convex functions states that if $f : [a, b] \rightarrow R$ is convex, then

$$\frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a) + f(b)}{2}.$$

The generalizations of the Hadamard's inequality to the integral power mean of a positive convex function on an interval $[a, b]$, and to that of a positive r -convex function on an interval $[a, b]$ are obtained by Pearce and Pečarić and other (see [3, 6, 7, 9, 12]). The definition of r -convexity naturally complements the concept of r -concavity, in which the inequality is reversed (see [11]) and which plays an important role in statistics.

Recently, Danielli et al. [1] and Lu et al. [4] have investigated some interesting properties and notions of convex function in Carnot group. Quite recently, Mingbao Sun and Xiaoping Yang [10] have introduced the concept of r -convex in Carnot groups, and derive from their results in the Abelian case $G = R$ more extensive results than the main results in [3, 6, 7, 9].

In what follows, the definition of Carnot groups is introduced, for more details the reader is referred to the paper [2, 5]. A Carnot groups G is a stratified, nilpotent Lie group of step r , with Lie algebra $\mathcal{G} = V_1 \oplus V_2 \oplus \cdots \oplus V_r$. This means that $[V_1, V_j] = V_{j+1}$ for $j = 1, 2, \dots, r-1$, whereas $[V_1, V_r] = \{0\}$. For points g, g_0 in G , we denote by $L_{g_0}(g) = g_0 g$ the left-translations on G by an element $g_0 \in G$. Let $m = \dim V_1$, and X_1, X_2, \dots, X_m be a fixed orthonormal basis of the first layer V_1 .

Mathematics subject classification (2000): 26D15, 49L25.

Key words and phrases: r -convex function, extended means; Carnot group, Hadamard's inequality, inequality.

This research was supported in part by the National Science Council of Republic of China, Project No. 94-2115-M-149-002.

We continue to denote by X_1, X_2, \dots, X_m the corresponding system of left-invariant vector fields on G . The exponential map $\exp : \mathcal{G} \rightarrow G$ is an analytic diffeomorphism, which allows us to define analytic maps $\xi_i : G \rightarrow V_i$ for $i = 1, 2, \dots, r$, by letting $g = \exp(\xi_1(g) + \dots + \xi_r(g))$ for $g \in G$. The mapping $\xi : G \rightarrow \mathcal{G}$ is defined by $\xi(g) = \xi_1(g) + \dots + \xi_r(g)$ is the inverse of the exponential mapping. The stratification of the Lie algebra allows us to define a natural family of nonisotropic dilations $\Delta_\lambda : \mathcal{G} \rightarrow \mathcal{G}$ as follows:

$$\Delta_\lambda \xi(g) = \lambda \xi_1(g) + \lambda^2 \xi_2(g) + \dots + \lambda^r \xi_r(g).$$

Therefore the exponential map induces a group of dilations on G via the formula

$$\delta_\lambda(g) = \exp \circ \Delta_\lambda \circ \exp^{-1}(g), \quad g \in G.$$

For a given function $f : G \rightarrow R$, the action of X_j on f is specified by the equation

$$X_j f(g) = \lim_{t \rightarrow 0} \frac{f(g \exp(tX_j)) - f(g)}{t} = \left. \frac{d}{dt} f(g \exp(tX_j)) \right|_{t=0}.$$

For a given open set $\Omega \in G$, the classes $\Gamma^1(\Omega)$ (respectively, $\Gamma^2(\Omega)$) represent the collection of all functions $u : \Omega \rightarrow R$ such that the derivatives $X_\alpha u$ (respectively, $X_\alpha X_{\alpha'} u$), $\alpha, \alpha' = 1, \dots, m$ exist and are continuous functions in Ω . We denote by dg the bi-invariant Haar measure on G obtained by pushing forward Lebesgue on \mathcal{G} via the exponential map. Given a point, the horizontal plane through g_0 as the m -dimensional embedded submanifold of G is given by

$$H_{g_0} = L_{g_0}(\exp(V_1 \times \{0\})),$$

where 0 denotes the $(N - m)$ -dimensional zero vector in \mathcal{G} , with $N = \dim V_1 + \dots + \dim V_r$. For a function $u : G \rightarrow R$ with $u \in \Gamma^2(G)$, the symmetrized horizontal Hessian of u at $g \in G$ is the $m \times m$ matrix

$$(X^2 u)^*(g) = \left((X^2 u)_{i,j}^*(g) \right)_{i,j=1}^m$$

defined by

$$(X^2 u)^*(g) \stackrel{def}{=} \frac{1}{2} \{ (X_i X_j u)(g) + X_i X_j u(g) \}.$$

In what follows, the definition of r -convexity in Carnot group G and some extended means will be given. Given two point $g, g' \in G$, for $\lambda \in [0, 1]$, denote

$$g_\lambda = g \delta_\lambda(g^{-1} g').$$

A function $u : G \rightarrow (-\infty, \infty]$ is called weakly H -convex (see [1]) if it is proper, which means that $\{g \in G : u(g) = \infty\} \neq G$, and if for any $g \in G$ one has for every $\lambda \in [0, 1]$,

$$u(g_\lambda) \leq \lambda u(g') + (1 - \lambda)u(g)$$

for every $g' \in H_g$.

Recall the power mean $M_r(x, y; \lambda)$ of order r of positive numbers x, y is defined by

$$M_r(x, y; \lambda) = \begin{cases} (\lambda x^r + (1 - \lambda)y^r)^{\frac{1}{r}}, & \text{if } r \neq 0, \\ x^\lambda y^{1-\lambda}, & \text{if } r = 0. \end{cases}$$

A natural idea of weakly H - r -convexity may be introduced via power means.

A function $u : G \rightarrow (0, +\infty]$ is said to be weakly H - r -convex if it is proper, and if for any $g \in G$, one has for any $\lambda \in [0, 1]$, $u(g_\lambda) \leq M_r(u(g'), u(g); \lambda)$ for every $g' \in H_g$. The class of all weakly H - r -convex functions on G is denoted by $C_{H,r}^w(G)$.

A function $u : G \rightarrow (0, +\infty]$ is called strongly H - r -convex if it is proper, and if for any $g, g' \in G$, one has $u(g_\lambda) \leq M_r(u(g'), u(g); \lambda)$ for every $\lambda \in [0, 1]$. The class of all strongly H - r -convex functions on G is denoted by $C_{H,r}^s(G)$.

The above definition of weakly (strongly) H - r -convexity naturally complements the concept of weakly (strongly) H - r -concavity in which the inequality is reversed. The definition of weakly (strongly) H - r -convexity can be expanded as

$$u(g_\lambda) \leq \begin{cases} \left(\lambda u^r(g') + (1 - \lambda)u^r(g) \right)^{\frac{1}{r}}, & \text{if } r \neq 0, \\ \lambda u(g') u^{(1-\lambda)}(g), & \text{if } r = 0. \end{cases} \quad (1.1)$$

In particular, when $r=1$, $C_{H,1}^w(G)(C_{H,1}^s(G))$ is just the class of all weakly (strongly) H -convex functions on G where the requirement that an r -convex function must be positive can clearly be relaxed, and is denoted simply by $C_H^w(G)(C_H^s(G))$ (see [1]). When $r = 0$, we have that 0-convex function is called weakly (strongly) H -log-convex function.

It is well known that the extended means $E(r, s; x, y)$ (see [8]) are given by $E(r, s; x, x) = x$ if $x = y > 0$ and for $x \neq y$ by

$$E(r, s; x, y) = \left[\frac{s y^r - x^r}{r y^s - x^s} \right]^{\frac{1}{r-s}}, \quad rs(r-s) \neq 0,$$

$$E(r, 0; x, y) = E(0, r; x, y) = \left[\frac{1}{r} \frac{y^r - x^r}{\ln y - \ln x} \right]^{\frac{1}{r}}, \quad r \neq 0,$$

$$E(r, r; x, y) = e^{\frac{-1}{r}} \left[\frac{x^{y^r}}{y^{x^r}} \right]^{\frac{1}{(x^r - y^r)}}, \quad r \neq 0,$$

$$E(0, 0; x, y) = \sqrt{xy}.$$

Clearly, $E(p+1, 1; x, y)$ is the extended logarithmic mean $L_p(x, y)$ of two positive numbers x, y , while $E(r+1, r; x, y)$ is also the alternative extended logarithmic mean $F_r(x, y)$ of two positive numbers x, y .

Let u be a positive function on G , and $u(g_\lambda)$ be an integrable function on $[0, 1]$ with respect to λ for every $g, g' \in G$. Define the two-parameter mean of the function $u(g_\lambda)$ on $[0, 1]$ with respect to λ by

$$M_{p,q}(u; g, g') = \begin{cases} \left[\frac{\int_0^1 u^p(g_\lambda) d\lambda}{\int_0^1 u^q(g_\lambda) d\lambda} \right]^{\frac{1}{p-q}}, & \text{if } p \neq q, \\ \exp \frac{\int_0^1 u^q(g_\lambda) \ln u(g_\lambda) d\lambda}{\int_0^1 u^q(g_\lambda) d\lambda}, & \text{if } p = q. \end{cases}$$

In particular, when $q = 0$, denote $M_{p,0}(u; g, g') = M_p(u; g, g')$, which is the integral power mean. In [10], Mingbo Sun and Xiaoping Yang established the following Theorems. These results establish a generalization of the classical Hadamard's inequality for weakly H - r -convex functions in a Carnot group G , which subsumes the relationship between extended mean values and weakly H - r -convex functions on G as special cases. It is easy to see that the following results continue to be valid if in their statements we replace $C_{H,r}^w(G)$ with $C_{H,r}^s(G)$.

THEOREM A. *Let G be a Carnot groups, given $u : G \rightarrow (0, +\infty]$, with $u \in C(G) \cap C_{H,r}^w(G)$, and $F : (0, +\infty) \rightarrow \mathbb{R}$. For any fixed $g \in G$, and for every $g' \in H_g$, if F is increasing on $u[g, g'] = \{u(g_\lambda) : 0 \leq \lambda \leq 1\}$, then*

$$\int_0^1 F(u(g_\lambda))d\lambda \leq \frac{r \int_{u(g)}^{u(g')} x^{r-1}F(x)dx}{u^r(g') - u^r(g)}, \tag{1.2}$$

for $u(g) = u(g')$, the right-hand side of (1.2) is defined by $F(u(g))$, while if F is decreasing, the inequality (1.2) is reversed.

THEOREM B. *Let G be a Carnot groups, given $u : G \rightarrow (0, +\infty)$, with $u \in \Gamma^2(G) \cap C_{H,r}^w(G)$, and $F_1, F_2 : (0, +\infty) \rightarrow \mathbb{R}$. For any fixed $g \in G$, and for every $g' \in H_g$, suppose that $u[g, g'] = \{u(g_\lambda) : 0 \leq \lambda \leq 1\}$, F_2 a positive integrable function on $u[g, g']$ and the ratio F_1/F_2 is increasing on $u[g, g']$, then*

$$\frac{\int_0^1 F_1(u(g_\lambda))d\lambda}{\int_0^1 F_2(u(g_\lambda))d\lambda} \leq \frac{\int_{u(g)}^{u(g')} x^{r-1}F_1(x)dx}{\int_{u(g)}^{u(g')} x^{r-1}F_2(x)dx}, \tag{1.3}$$

for $u(g) = u(g')$, the right-hand side of (1.3) is defined by $F_1(u(g))/F_2(u(g'))$, while if F_1/F_2 is decreasing, the inequality (1.3) is reversed.

Sun and Yang have also proved that Theorem B is valid when the condition $u \in \Gamma^2(G) \cap C_{H,r}^w(G)$ replaces by $u \in C(G) \cap C_{H,r}^w(G)$ in the case of $r = 1$ or 0 . Applying the Theorem A and Theorem B, they also obtain the some interesting inequalities that subsume the relationship between extended mean values and weakly H - r -convex functions on Carnot groups.

We note that, Sun and Yang can obtain the inequality (1.2) by taking $F_2 \equiv 1$ in Theorem B, but they prove that only in the case of $u \in \Gamma^2(G) \cap C_{H,r}^w(G)$. Also, the proof of Theorem B is very complicated. The main purpose of this paper is to establish a connection to inequality (1.1) for weakly (strongly) H - r -convexity, and then some nontrivial increasing functions shall be interpolated in the inequalities (1.2), (1.3) and some interesting inequalities on Carnot groups established by Sun and Yang, respectively. The methods are more natural and allow us to extend the condition $\Gamma^2(G) \cap C_{H,r}^w(G)$ to the condition $C(G) \cap C_{H,r}^w(G)$ in Theorem B. In the Section 3, the Abelian case $G = \mathbb{R}$, the interpolations, extensions and generalizations of the results given by the authors in [3, 6, 7, 9, 10, 12] will be pointed out.

2. Main results

The following Theorem plays an important role in the proof of the next two results.

THEOREM 2.1. *Let G be a Carnot groups and $u : G \rightarrow (0, \infty)$ with $u \in C(G) \cap C_{H,r}^w(G)$. For $0 \leq \lambda \leq 1$, for any fixed $g_0 \in G$ and for every $g_1 \in H_{g_0}$ and if $h_\lambda : [0, 1] \rightarrow (0, \infty)$ is defined by*

$$h_\lambda(t) = \begin{cases} \left[\lambda u^r(g_{t+(1-t)\lambda}) + (1-\lambda)u^r(g_{(1-t)\lambda}) \right]^{\frac{1}{r}}, & \text{if } r \neq 0, \\ u^\lambda(g_{t+(1-t)\lambda})u^{(1-\lambda)}(g_{(1-t)\lambda}), & \text{if } r = 0, \end{cases} \quad (2.1)$$

where $g_{(1-t)\lambda} \in G$ and $g_{t+(1-t)\lambda} \in H_{g_{(1-t)\lambda}}$, then

- (i) $h_\lambda(t)$ is increasing on $[0, 1]$;
- (ii) $h_\lambda(0) = u(g_\lambda)$ and $h_\lambda(1) = \begin{cases} (\lambda u^r(g_1) + (1-\lambda)u^r(g_0))^{\frac{1}{r}}, & \text{if } r \neq 0, \\ u^\lambda(g_1) \cdot u^{1-\lambda}(g_0), & \text{if } r = 0. \end{cases}$

Proof. For any $t \in [0, 1]$, using r -convexity of u , we obtain that for $g_{(1-t)\lambda} \in G$, $g_{t+(1-t)\lambda} \in H_{g_{(1-t)\lambda}}$, and for every $\alpha \in [0, 1]$,

$$u(g_{t\alpha+(1-t)\lambda}) \leq \begin{cases} \left[(t\alpha + (1-t)\lambda)u^r(g_{t+(1-t)\lambda}) \right. \\ \quad \left. + (1-t\alpha - (1-t)\lambda)u^r(g_{(1-t)\lambda}) \right]^{\frac{1}{r}}, & \text{if } r \neq 0, \\ u^{(t\alpha+(1-t)\lambda)}(g_{t+(1-t)\lambda}) \cdot u^{(1-t\alpha-(1-t)\lambda)}(g_{(1-t)\lambda}), & \text{if } r = 0, \end{cases}$$

where $g_{t\alpha+(1-t)\lambda} = g_{(1-t)\lambda} \delta_{\alpha+(1-t)\lambda}^{-1} g_{(1-t)\lambda} g_{t+(1-t)\lambda}$.

Let $0 \leq x < y \leq 1$. Taking $t = y$ and $\alpha = \frac{x+(y-x)\lambda}{y}$ in the above inequality, we have

$$u(g_{x+(1-x)\lambda}) \leq \begin{cases} \left[(x + (1-x)\lambda)u^r(g_{y+(1-y)\lambda}) \right. \\ \quad \left. + (1-x - (1-x)\lambda)u^r(g_{(1-y)\lambda}) \right]^{\frac{1}{r}}, & \text{if } r \neq 0, \\ u^{(x+(1-x)\lambda)}(g_{y+(1-y)\lambda}) \cdot u^{(1-x-(1-x)\lambda)}(g_{(1-y)\lambda}), & \text{if } r = 0, \end{cases}$$

Similarly, if $t = y$ and $\alpha = \frac{(y-x)\lambda}{y}$, we have

$$u(g_{(1-x)\lambda}) \leq \begin{cases} \left[((1-x)\lambda)u^r(g_{y+(1-y)\lambda}) + (1 - (1-x)\lambda)u^r(g_{(1-y)\lambda}) \right]^{\frac{1}{r}}, & \text{if } r \neq 0, \\ u^{((1-x)\lambda)}(g_{y+(1-y)\lambda}) \cdot u^{(1-(1-x)\lambda)}(g_{(1-y)\lambda}), & \text{if } r = 0, \end{cases}$$

Thus, for $r \neq 0$, we have

$$\begin{aligned} h_\lambda(x) &= [\lambda u^r(g_{x+(1-x)\lambda}) + (1-\lambda)u^r(g_{(1-x)\lambda})]^\frac{1}{r} \\ &\leq \{\lambda[(x+(1-x)\lambda)u^r(g_{y+(1-y)\lambda}) + (1-x-(1-x)\lambda)u^r(g_{(1-y)\lambda})] \\ &\quad + (1-\lambda)[(1-x)\lambda u^r(g_{y+(1-y)\lambda}) + (1-(1-x)\lambda)u^r(g_{(1-y)\lambda})]\}^\frac{1}{r} \\ &= [\lambda u^r(g_{y+(1-y)\lambda}) + (1-\lambda)u^r(g_{(1-y)\lambda})]^\frac{1}{r} \\ &= h_\lambda(y), \end{aligned}$$

and for $r = 0$, we have

$$\begin{aligned} h_\lambda(x) &= u^\lambda(g_{x+(1-x)\lambda}) \cdot u^{(1-\lambda)}(g_{(1-x)\lambda}) \\ &\leq \left[u^{(x+(1-x)\lambda)}(g_{y+(1-y)\lambda}) \cdot u^{(1-x-(1-x)\lambda)}(g_{(1-y)\lambda}) \right]^\lambda \times \\ &\quad \times \left[u^{(1-x)\lambda}(g_{y+(1-y)\lambda}) \cdot u^{(1-(1-x)\lambda)}(g_{(1-y)\lambda}) \right]^{(1-\lambda)} \\ &= u^\lambda(g_{y+(1-y)\lambda}) \cdot u^{(1-\lambda)}(g_{(1-y)\lambda}) \\ &= h_\lambda(y). \end{aligned}$$

This completes the proof of (i). The proofs of (ii) are obvious, we omit it. Thus, the proofs of Theorem 2.1 are complete.

REMARK 2.2. It is valid that $C_{H,r}^w(G)$ replaces by $C_{H,r}^s(G)$ in Theorem 2.1, and if u is weakly (strongly) H - r -concavity then $h_\lambda(t)$ is decreasing decreasing on $[0,1]$. Also, we note that the $h_\lambda(t)$ in (2.1) is a mapping in connection to inequality (1.1) for weakly (strongly) H - r -convexity.

Applying Theorem 2.1, we obtain the following two Theorems easily.

THEOREM 2.3. Let G be a Carnot groups, given $u : G \rightarrow (0, +\infty)$ with $u \in C(G) \cap H_{H,r}^w(G)$, and $F : (0, +\infty) \rightarrow R$. For $0 \leq \lambda \leq 1$, for any fixed $g_0 \in G$ and for every $g_1 \in H_{g_0}$, and suppose that $Q : [0, 1] \rightarrow R$ is defined by $Q(t) = \int_0^1 F(h_\lambda(t))d\lambda$, where $h_\lambda(t)$ is defined as in (2.1). If F is increasing on $[h_\lambda(0), h_\lambda(1)]$, then

- (i) $Q(t)$ is increasing on $[0, 1]$;
- (ii) $Q(0) = \int_0^1 F(u(g_\lambda))d\lambda$, and

$$Q(1) = \begin{cases} \frac{r \int_{u(g_0)}^{u(g_1)} x^{r-1} F(x) dx}{u^r(g_1) - u^r(g_0)} & \text{if } r \neq 0, \\ \int_{u(g_0)}^{u(g_1)} \frac{F(x)}{x(\ln u(g_1) - \ln u(g_0))} dx, & \text{if } r = 0, \end{cases}$$

for $u(g_0) = u(g_1)$, $Q(1)$ is defined by $F(u(g_0))$, while if F is decreasing, the $Q(t)$ is decreasing on $[0, 1]$.

Proof. By Theorem 2.1, we have $h_\lambda(t)$ is increasing on $[0,1]$, and using F is increasing on $[h_\lambda(0), h_\lambda(1)]$, we obtain the $Q(t)$ is increasing on $[0,1]$. This completes the proof of (i). Proof of (ii). The first term of (ii) is obvious. To prove the second term of (ii) first we suppose that $u(g_0) = u(g_1)$, by definition on $Q(1)$, we have $Q(1) = F(u(g_0))$, so that we may assume $u(g_0) \neq u(g_1)$. By (ii) in Theorem 2.1, we obtain

$$Q(1) = \int_0^1 F(h_\lambda(1))d\lambda = \begin{cases} \int_0^1 F\left((\lambda u^r(g_1) + (1 - \lambda)u^r(g_0))^{\frac{1}{r}}\right)d\lambda, & \text{if } r \neq 0, \\ \int_0^1 F\left(u^\lambda(g_1) \cdot u^{1-\lambda}(g_0)\right)d\lambda, & \text{if } r = 0. \end{cases}$$

By changing the variable, we have the second term of (ii). This completes the proof of (ii). Thus the proofs of Theorem 2.3 are complete.

For the convenience, we define the following sets.

The following functions are all the real-valued function defined on $[0, \infty)$. Let

$$\begin{aligned} I_1 &= \{(f, g) \mid f \text{ is nonnegative and nondecreasing and } g \text{ is positive and nonincreasing}\}, \\ I_2 &= \{(f, g) \mid f \text{ is nonnegative and nonincreasing and } g \text{ is negative and nonincreasing}\}, \\ I_3 &= \{(f, g) \mid f \text{ is nonpositive and nondecreasing and } g \text{ is positive and nondecreasing}\}, \\ I_4 &= \{(f, g) \mid f \text{ is nonpositive and nonincreasing and } g \text{ is negative and nondecreasing}\}, \\ J_1 &= \{(f, g) \mid f \text{ is nonnegative and nonincreasing and } g \text{ is positive and nondecreasing}\}, \\ J_2 &= \{(f, g) \mid f \text{ is nonnegative and nondecreasing and } g \text{ is negative and nondecreasing}\}, \\ J_3 &= \{(f, g) \mid f \text{ is nonpositive and nonincreasing and } g \text{ is positive and nonincreasing}\}, \\ J_4 &= \{(f, g) \mid f \text{ is nonpositive and nondecreasing and } g \text{ is negative and nonincreasing}\}, \\ D_1 &= I_1 \cup I_2 \cup I_3 \cup I_4 \text{ and } D_2 = J_1 \cup J_2 \cup J_3 \cup J_4. \end{aligned}$$

THEOREM 2.4. *Let G be a Carnot groups, given $u : G \rightarrow (0, +\infty)$ with $u \in C(G) \cap H_{H,r}^w(G)$, and $F_1, F_2 : (0, +\infty) \rightarrow R$. For $0 \leq \lambda \leq 1$, for any fixed $g_0 \in G$ and for every $g_1 \in H_{g_0}$, and suppose that $Q : [0, 1] \rightarrow R$ is defined by $Q(t) = \int_0^1 F_1(h_\lambda(t))d\lambda / \int_0^1 F_2(h_\lambda(t))d\lambda$, where $h_\lambda(t)$ as defined in (2, 1), and F_1 and F_2 integrable on $[h_\lambda(0), h_\lambda(1)]$. If $(F_1, F_2) \in D_1$, then*

(i) $Q(t)$ is increasing on $[0, 1]$, and

$$\begin{aligned} \text{(ii) } Q(0) &= \frac{\int_0^1 F_1(u(g_\lambda))d\lambda}{\int_0^1 F_2(u(g_\lambda))d\lambda}, \\ Q(1) &= \frac{\int_{u(g_0)}^{u(g_1)} x^{r-1} F_1(x)dx}{\int_{u(g_0)}^{u(g_1)} x^{r-1} F_2(x)dx}, \end{aligned}$$

for $u(g_0) = u(g_1)$, the $Q(1)$ is defined by $F_1(u(g_0))/F_2(u(g_0))$, while if $(F_1, F_2) \in D_2$, then $Q(t)$ is decreasing on $[0, 1]$.

Proof. Let $0 \leq s < t \leq 1$ and $0 \leq \lambda \leq 1$, we have

$$\begin{aligned} Q(t) - Q(s) &= \frac{\int_0^1 F_1(h_\lambda(t))d\lambda}{\int_0^1 F_2(h_\lambda(t))d\lambda} - \frac{\int_0^1 F_1(h_\lambda(s))d\lambda}{\int_0^1 F_2(h_\lambda(s))d\lambda} \\ &\quad + \frac{\int_0^1 F_1(h_\lambda(t))d\lambda}{\int_0^1 F_2(h_\lambda(s))d\lambda} - \frac{\int_0^1 F_1(h_\lambda(s))d\lambda}{\int_0^1 F_2(h_\lambda(s))d\lambda} \\ &= \frac{\int_0^1 F_1(h_\lambda(t))d\lambda \cdot \int_0^1 (F_2(h_\lambda(s))d\lambda - F_2(h_\lambda(t)))d\lambda}{\int_0^1 F_2(h_\lambda(t))d\lambda \cdot \int_0^1 F_2(h_\lambda(s))d\lambda} \\ &\quad + \frac{1}{\int_0^1 F_2(h_\lambda(s))d\lambda} \left(\int_0^1 (F_1(h_\lambda(t)) - F_1(h_\lambda(s)))d\lambda \right). \end{aligned}$$

By Theorem 2.1, we have $h_\lambda(s) \leq h_\lambda(t)$ and using $(F_1, F_2) \in D_1$, we obtain $Q(t) - Q(s) \geq 0$. This completes the proof of (i).

To prove (ii) first we observe that

$$Q(0) = \frac{\int_0^1 F_1(u(g_\lambda))d\lambda}{\int_0^1 F_2(u(g_\lambda))d\lambda}.$$

To prove the second term of (ii) we suppose that $u(g_0) = u(g_1)$, then it is obvious $Q(1) = F_1(u(g_0))/F_2(u(g_1))$, so that we may assume $u(g_0) \neq u(g_1)$. By changing the variable, we have

$$Q(1) = \frac{\int_0^1 F_1\left((\lambda u^r(g_1) + (1 - \lambda)u^r(g_0))^{\frac{1}{r}}\right)d\lambda}{\int_0^1 F_2\left((\lambda u^r(g_1) + (1 - \lambda)u^r(g_0))^{\frac{1}{r}}\right)d\lambda} = \frac{\int_{u(g_0)}^{u(g_1)} x^{r-1} F_1(x)dx}{\int_{u(g_0)}^{u(g_1)} x^{r-1} F_2(x)dx}.$$

This completes the proof of (ii).

REMARK 2.5. It is obvious that Theorem 2.3 and Theorem 2.4 continue to be valid if in their statements we replace $C_{H,r}^w(G)$ with $C_{H,r}^s(G)$. Similarly, under the assumption of Theorem 2.3 and Theorem 2.4, respectively, if u is weakly (strongly) H - r -concave, we can derive that $Q(t)$ is decreasing on $[0, 1]$ in the case of F be increasing and $(F_1, F_2) \in D_1$, respectively, while $Q(t)$ is increasing on $[0, 1]$ is valid in the case of F be decreasing and $(F_1, F_2) \in D_2$, respectively.

REMARK 2.6. In Theorem 2.3, the nontrivial increasing function $Q(t)$ is interpolated in the inequality (1.2). In Theorem 2.4, the condition $u \in \Gamma^2(G) \cap H_{H,r}^w(G)$ in Theorem B is extended to $u \in C(G) \cap H_{H,r}^w(G)$, and the nontrivial increasing function $Q(t)$ is interpolated in the inequality (1.3). Obviously, we can obtain the Theorem 2.3 by taking $F_2 \equiv 1$ in Theorem 2.4, but we only give the proof in the case of $F_1 \in I_1 \cup I_3$.

REMARK 2.7. Using the Theorem 2.3 and Theorem 2.4, we have the following interpolations of the interesting inequalities given by Sum and Yan in [10] that subsume the relationship between extended mean value and weakly H - r -convex functions on

Carnot groups. Also, we note that the inequality (2.4) and (2.5) in [10] only hold in the case of $p - q > 0$ and $p > 0$, respectively.

If take $F_1(x) = x^p$, $F_2(x) = x^q$ for $0 < x < \infty$ and for any real numbers p, q with $p > 0 > q$ in Theorem 2.4, u as in Theorem 2.4, we have $(F_1, F_2) \in D_1$ and then we can derive the following inequality:

$$M_{p,q}(u; g_0, g_1) = Q(0) \leq Q(t) \leq Q(1) = E(p + r, q + r, u(g_1), u(g_0)) \quad (2.2)$$

where $Q(t) = \int_0^1 h_\lambda^p(t) d\lambda / \int_0^1 h_\lambda^q(t) d\lambda$, $h_\lambda(t)$ is defined as in (2.1) and $Q(t)$ is increasing on $[0, 1]$. This proves that the $Q(t)$ in (2.2) is interpolated in inequality (2.4) in [10]. Also, we note that the condition u in (2.2) is weaker than u in (2.4) in [10]. Similarly, taking $F(x) = x^p$ for $0 < x < \infty$ in Theorem 2.3 and for any real number $p > 0$, we have F is increasing and then we can derive the following inequality:

$$M_p(u; g_0, g_1) = Q(0) \leq Q(t) \leq Q(1) = E(p + r, r, u(g_1), u(g_0)) \quad (2.3)$$

where $Q(t) = \int_0^1 h_\lambda^p(t) d\lambda$, $h_\lambda(t)$ is defined as in (2.1), and the $Q(t)$ is increasing on $[0, 1]$. This prove that $Q(t)$ in (2.3) is interpolated in inequality (2.5) in [10].

Further, taking $r = 1$ and $p = 1$ in (2.3), respectively, we have

$$M_p(u; g_0, g_1) = Q(0) \leq Q(t) \leq Q(1) = L_p(u(g_1), u(g_0)) \quad (2.4)$$

where $Q(t) = \int_0^1 [\lambda u(g_{t+(1-t)\lambda}) + (1 - \lambda)u(g_{(1-t)\lambda})]^p d\lambda$, and

$$\int_0^1 u(g_\lambda) d\lambda = Q(0) \leq Q(t) \leq Q(1) = F_r(u(g_1), u(g_0)) \quad (2.5)$$

where $Q(t) = \int_0^1 h_\lambda(t) dt$, $h_\lambda(t)$ is defined as in (2.1), respectively, The $Q(t)$ in (2.4) and the $Q(t)$ in (2.5) are interpolated in the inequality $M_p(u; g_0, g_1) \leq L_p(u(g_1), u(g_0))$ and $\int_0^1 u(g_\lambda) d\lambda \leq F_r(u(g_1), u(g_0))$ given in [10], respectively.

It is easy to see that the above results continuous to be valid if in their statements we replace $C_{H,r}^w(G)$ with $C_{H,r}^s(G)$.

3. Applications

In the Abelian case, when $G = (R, +)$ and $u = f$ is a positive function on $(-\infty, +\infty)$ in Theorem 2.3 and Theorem 2.4, respectively, we have the following two Corollaries.

COROLLARY 3.1. *Let f be a positive function on $(-\infty, +\infty)$, F be a real-valued function on $(0, +\infty)$, and $Q : [0, 1] \rightarrow R$ be defined by*

$$Q(t) = \int_0^1 F(k_\lambda(t)) d\lambda \quad (3.1)$$

where

$$k_\lambda(t) = \begin{cases} [\lambda f^r((t + \lambda - t\lambda)b + (1 - t - \lambda + t\lambda)a) \\ \quad + (1 - \lambda)f^r((\lambda - t\lambda)b + (1 - \lambda + t\lambda)a)]^{\frac{1}{r}}, & \text{if } r \neq 0, \\ f^\lambda((t + \lambda - t\lambda)b + (1 - t - \lambda + t\lambda)a) \times \\ \quad \times f^{1-\lambda}((\lambda - t\lambda)b + (1 - \lambda + t\lambda)a), & \text{if } r = 0. \end{cases} \tag{3.2}$$

When F is increasing on $[k_\lambda(0), k_\lambda(1)]$, if f is r -convex, then

(i) $Q(t)$ is increasing on $[0, 1]$;

(ii) $Q(0) = \frac{1}{b-a} \int_a^b F(f(x))dx,$

$$Q(1) = \begin{cases} \frac{r \int_{f(a)}^{f(b)} x^{r-1} F(x) dx}{f^r(b) - f^r(a)}, & \text{if } r \neq 0, \\ \int_{f(a)}^{f(b)} \frac{F(x)}{x(\ln f(b) - \ln(a))} dx, & \text{if } r = 0, \end{cases}$$

for $f(a) = f(b)$, the $Q(1)$ is defined by $F(f(a))$, while if f is r -concave, $Q(t)$ is decreasing. When F is decreasing, if f is r -convex, $Q(t)$ is decreasing, while if f is r -concave, $Q(t)$ is increasing.

COROLLARY 3.2. Let f be a positive function on $(-\infty, +\infty)$, F_1, F_2 real-valued functions on $(0, +\infty)$, and $Q : [0, 1] \rightarrow R$ be defined by

$$Q(t) = \frac{\int_0^1 F_1(k_\lambda(t))d\lambda}{\int_0^1 F_2(k_\lambda(t))d\lambda} \tag{3.3}$$

where $k_\lambda(t)$ defined as in (3.2), and F_1, F_2 be integrable function on $[k_\lambda(0), k_\lambda(1)]$. When $(F_1, F_2) \in D_1, D_1$ as defined in Section 2, if f is r -convex, then

(i) $Q(t)$ is increasing on $[0, 1]$, and

(ii) $Q(0) = \frac{\int_a^b F_1(f(x))dx}{\int_a^b F_2(f(x))dx},$
 $Q(1) = \frac{\int_{f(a)}^{f(b)} x^{r-1} F_1(x) dx}{\int_{f(a)}^{f(b)} x^{r-1} F_2(x) dx},$

for $f(a) = f(b)$, the $Q(1)$ is defined by $F_1(f(a))/F_2(f(a))$, while if f is r -concave, the $Q(t)$ is decreasing on $[0, 1]$. When $(F_1, F_2) \in D_2$, if f is r -convex, the $Q(t)$ is decreasing on $[0, 1]$, while if f is r -concave, $Q(t)$ is increasing on $[0, 1]$.

REMARK 3.3. The increasing function $Q(t)$ in Corollary 3.1 and $Q(t)$ in Corollary 3.2 are interpolated in the inequality (5.3) and (5.1) in [10], respectively. Also, we note

that the restrictive conditions of the function f in Corollary 3.2 are weaker than the ones in Corollary 5.1 in [10].

REMARK 3.4. We note that the inequality (5.4) and (5.5) in [10] only holds in the case of $p - q > 0$ and $p > 0$, respectively. If we suitably choose the F in Corollary 3.1 and F_1, F_2 in Corollary 3.2, respectively, we can obtain the interpolations, extensions and generalizations of the results given in [3, 6, 7, 9]. We leave the details for the reader. Specially, if we take $F(x) = x^p$ in Corollary 3.1 and change the variable to (3.1), then Corollary 3.1 reduce to the Theorem given by Yang and the author in [12].

Acknowledgement. The author thanks the referee for his comments and suggestions which improved the presentation of this manuscript.

REFERENCES

- [1] D. DANIELLI, N. GAROFALO AND D. NHIEU, *Notions of convexity in Carnot groups*, Comm. Anal. Geom., **11**, (2003), 263–341.
- [2] G. B. FOLLAND, E. M. STEIN, *Hardy Space on Homogenous Groups*, Princeton Univ. Press, Princeton, NJ, 1982.
- [3] P. M. GILL, C. E. M. PEARCE AND J. PEČARIĆ, *Hadamard's inequality for r -convex functions*, J. Math. Anal. App., **215**, (1997), 461–470.
- [4] G. LU, J. J. MANFREDI AND B. STROFFOLINI, *Convex function on the Heisenberg group*, Calc. Var. Partial Differential Equations, **19**, (2003), 1–22.
- [5] P. PANSU, *Métriques de Carnot-Carathéodory et quasiisométries des symétriques de rang un*, Ann. Math., **129**, (1989), 99–109.
- [6] C. E. M. PEARCE, J. PEČARIĆ, *A continuous analogue and extension of Rado's formulae for convex and concave functions*, Bull. Austral. Math. Soc., **53**, (1996), 229–233.
- [7] C. E. M. PEARCE, J. PEČARIĆ, AND V. ŠIMIĆ, *Stolarsky means and Hadamard's inequality*, J. Math. Anal. Appl., **220**, (1998), 99–109.
- [8] K. B. STOLARSKY, *Generalization of the logarithmic mean*, Math. Mag., **48**, (1975), 87–92.
- [9] M. SUN, *Inequalities for two-parameter mean of convex functions*, Math. Practice Theory, **27**, (1997), 193–197 (in Chinese).
- [10] M. SUM, X. YANG, *Generalized Hadamard's inequality and r -convex functions in Carnot groups*, J. Math. Anal. Appl., **294**, (2004), 387–398.
- [11] B. UHRIN, *Some remarks about the convolution of unimodal functions*, Ann. Probab., **12**, (1984), 640–645.
- [12] G.-S. YANG, D.-Y HWANG, *Refinements of Hadamard's inequality for r -convex functions*, Indian J. Pure Appl. Math., **32**, (2001), 1571–1579.

(Received November 30, 2005)

*Department of Information and Management
Northern Taiwan Institute of Science and Technology
2, Xue Yuan Road, Beitou
Taipei 112
Taiwan
e-mail: dyhuang@tsint.edu.tw*